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Finding Sum with Rounding

Name:

Use rounding strategiesto find the sum. Answers
/ Now we can mentally add and find the\
Rather than lining up the place values, one strategy isto solution.
round to the highest place value and solve mentally. 200 + 236 = 436 1
194 + 236 = But since we added 6 to 194 (to make it 200), |[|[ 2.
now we have to take 6 away.
In the exampl e above 194 rounds up to 200. That would make
our problem look like: 436 - 6 =430 3.
200 + 236 =
& And now we have our sum. / 4
1) 195+351= 2) 392+ 267 =
5.
3 297 +222 = 4) 494 + 258 = 6.
7.
5 195+ 742 = 6) 395 + 547 =
8.
7) 91+242= 8) 597 + 324 = 9.
10.
9 98+360= 10) 697 +175=
11.
11) 97+ 265= 12) 698 + 166 = 12.
13.
13) 194 + 458 = 14) 96+ 272 =
14,
15) 199 + 297 = 16) 92 + 491 = 5
16.
17) 494 + 497 = 18) 191+ 224 =
17.
19) 92 +222 = 20) 593 + 367 = 8
19.
20.
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Finding Sum with Rounding

Name:

Answer Key

Use rounding strategiesto find the sum. Answers
/ Now we can mentally add and find the\
Rather than lining up the place values, one strategy isto solution. 546
round to the highest place value and solve mentally. 200 + 236 = 436 1
194 + 236 = But since we added 6 to 194 (to make it 200), ||| o 659
now we have to take 6 away.
In the example above 194 rounds up to 200. That would make
our problem look like: 436-6 =430 3. 519
200 + 236 =
& And now we have our sum. / 4 752
1 + = 2) + =
195 + 351 546 392 + 267 659 . 937
3 297+222= 519 4) 494+258= 752 6. 942
7. 333
5) 195+ 742 = 937 6) 395+ 547 = 942
8. 921
7 91+242= 333 8 597+324= 921 9 458
10. 872
9 98+360= 458 10) 697 +175= 872
11. 362
11) 97+ 265= 362 12) 698 + 166 = 864 12. 864
13. 652
13) 194+458= 652 14) 96+272= 368
14, 368
15 199+297= 496 16) 92+491= 583 5 496
16. 583
17) 494 + 497 = 991 18) 191 +224 = 415
17, 991
19 92+222= 314 20) 593+367= 960 N 415
19, 314
20, 960
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